R
ﬁ/w Palindrome .

Low Voltage Input A
: CAUTION: ADVERTENCIA:

Before starting, turn off power Antes de comenzar la instalacion,

¢ ( at main circuit panel. apague la corriente en el tablero

principal.
_ ATTENTION:
' ‘/-—-" > Coupez I'alimentation avant de
" proceder a l'installation.
Q

Calling for backup? Scan above
to contact our team.

www.RBW.com
+1 212 388 0399
support@RBW.com
© RBW Studio LLC, 2013, 2020

J




* Suspension point locations determine product Configurations
orientation (Refer to tech pack)

Product | Item | QTY | Part Number Description

* Assembly and installation requires 2 or more people _
PD2 1 1 [12512-PC20 Palindrome 2 Frame. PC20

Palindrome Diffuser

2 2 |12316-27 Assembly. Static CCT. 27K

Package: Palindrome 2 Cable

3 T 15415 and Canopy Kit. Static CCT

)

PD2



* Suspension point locations determine product
orientation (Refer to tech pack)

* Assembly and installation requires 2 or more people

Configurations
Product | Item | QTY | Part Number Description
PD4 1 1 [12513-PC20 Palindrome 4 Frame. PC20
Palindrome Diffuser
2 4 |12516-27 Assembly. Static CCT. 27K
3 1 l1s416 Package: Palindrome 4 Cable

and Canopy Kit. Static CCT

PD4




* Suspension point locations determine product Configurations
orientation (Refer to tech pack) —
Product | Item | QTY | Part Number Description
* Assembly and installation requires 2 or more people PD6 1 1 112514-PC20 Palindrome 6 Frame. PC20
Palindrome Diffuser
2 6 |12316-2/ Assembly. Static CCT. 27K
Package: Palindrome 6 Cable
3 T |1417 and Canopy Kit. Static CCT
P — ) P P

)

PD6

’\




* Suspension point locations determine product Configurations
orientation (Refer to tech pack) ——
Product | Item | QTY | Part Number Description
* Assembly and installation requires 2 or more people PDS 1 1 112515-PC20 Palindrome 8 Frame. PC20
Palindrome Diffuser
2 8 12516-27 Assembly. Static CCT. 27K
3 1 115418 Package: Palindrome 8 Cable

and Canopy Kit. Static CCT

PD8

Y%

\

.

o




* Assembly and installation requires 2 or more people

* Part configurations may vary depending on product SKU
(refer to tables on pages 2-5)

Item | Qty | Part number Description

Palindrome 2 Frame. Red &

! ! 12512-PC20 Black Wires. Matte White

Palindrome Diffuser

2 2 |12516-27 Assembly. Static CCT. 27K

Package: Palindrome 2 Cable

3 ! 15415 and Canopy Kit. Static CCT

PH Flat Head Screw M2x0.4 x 6

Stainless Steel 18-8 Black Oxide \

M4 x 0.7mm Thread, 3mm Long
Alloy Steel Cup-Point Set Screw

Palindrome Diffuser
Assembly

Precise-Control Screwdriver

=
\/

5/64"/2 mm Hex

; ; Palindrome T-Joint

s Wago 224 series - 112
Palindrome T-Joint Cover

Installation - Glass Lamp

1.

n

Remove set screw using included 2mm Hex
Screwdriver and remove two PH flat head screws
and T-Joint Cover.

Insert Glass Diffuser Assembly into T-Joint.

Fasten M4 Set Screw to secure Diffuser Assembly in
place.

Connect leads from Diffuser Assembly to
corresponding Wago connectors.

Re-attach T-Joint Cover by fastening two M2 PH flat
head screws.



* Fasten Gripper Base to a secure location P / Power Supply
N SN
N

4

Palindrome N White Nylon Strain Relief
Hang Terminal

- inc Plated
Aircraft Cable Gripper Base Hex Nut 1/8-271PS Zinc Plate

e
#10 Fastener
*Fasteners not included

Aircraft Cable Gripper Body

Round Canopy #93 Suspended SVT
M10 Conical Grooved Nut Plastic White
Installation - Cord Suspension Canopy Kit
1. Thread Brass Nipple through the Crossbar and

thread Hex Nut onto Brass Nipple.

CrossBar #178

1in X 1/8 IPS Threaded Brass Hollow Nipple

Installation - Cable Gripper and Canopy 2. Slide the Conical Nut, Round Canopy, Nipple,
Crossbar, Hex Nut and Strain Relief over Power
1. Arrange Palindrome below installation location, Cord.
aligning power feed and suspension locations. 3. Fasten Strain Relief at desired hang height by
2. Feed Cable around Palindrome Bent Tube in hang tightening the set screw.

point locations. 4. Fasten Crossbar to the junction box.
3. Allow around 6" of slack between Gripper and Tube 5. Trim and strip excess power cord.
before tightening set screw. 6. Connect product Power Cord to low voltage leads.
4. Use appropriate fasteners to secure Cable Gripper 7. Raise Round Canopy and thread Conical Nut onto
Bases to desired suspension locations. 1/8 IPS Nipple.
5. Feed Cable through the Gripper Turret and thread 8. Congratulations! End of guide.

Gripper Body to Gripper Base.



	DC Cover Page
	DC SKU Page
	DC BOM & P.1
	DC P.2



